= #E3325E (2B) Tube Fitting (Black)

il
o T
ETES s BB nEIE
PC4-M5 35 |M5X08| 8 159 | 176 | 3 | 32 3
PC4-M6 . g |39 |Mex10] 10 | [125 181 ] 3 | 46 3
PC4-01 7 | PT8 | 10 128 | 163 | 3 | 56 3
op 4 PC4-02 96 | PT1/4 | 14 129 [17.7 | 3 | 128 | 3
oD Eg/ PC6-M5 35 | M5x08| 8 176 | 194 | 2 | 46 | 2
—1 PC6-M6 3.7 | MBX10| 10 14.3 | 185 3 48 3
e PC6-01 6 10 7 | PT1/8 | 10 | 142 [ 158 [ 193 | 4 | 56 4
! PC6-02 96 | PT1/4 | 14 139 (187 | 4 | 116 | 4
CH _% PC6-03 96 | PT3/8 | 17 149 [ 197 | 4 | 228 | 4
; e o PC8-01 7 | PTU8 | 14 24 | 275 | 5 12 5
0 : PC8-02 96 | PT1/4 | 14 203 | 242 | 6 | 132 6
< [ ——— 1 8 | 136 185
PC8-03 9.6 | PT38 | 17 194 (242 | 6 | 222 | 6
PC8-04 12 | PT12 | 21 192 [ 252 | 6 | 404 | 6
\R PC10-01 7 | PTs | 17 [206 | 261 206 | 5 |194 | 5
PC10-02 10 | 167 |98 [ PTH4 | 17 [203 [243 | 201 | 7 20 7
PC10-03 96 |PT3/8 | 17 [157 | 21 | 258 | 8 |212| 8
<}—_ PC10-04 12 | PT1/2 | 21 | 206 | 199 | 259 | 8 37 8
PC12-02 9.6 | PT1/4 | 21 30 | 348 | - 35 7
R PC12-03 12 | 196 |96 | PT3/8 | 21 | 232 274 [ 322 | - |324 | o
',‘"A\eﬁtﬁ%‘_géei%d type PC12-04 12 | PT12 | 21 262 | 322 | - | 402 o
G Straight
\RBR BB R (Unit): m/m
LS o BB REALE
PC4-M5 35 |M5x08| 8 | 124 |159 [176 | 3 | 32 3
PC4-M6 . g |39 [MeX10| 10 |124 [125 |181 | 3 | 46 3
op PC4-01G 75| 618 | 10 |102 [ 131 | 168 | 3 3.2 3
@D PC4-02G 95 | G1/4 | 14 |124 [ 129 | 176 | 3 | 134 3
I~ PC6-M5 35 |M5X08| 8 | 142 | 176 [ 194 | 2 | 46 2
PC6-M6 3.7 |Mex1.0| 10 | 142 | 143 [185 | 3 | 48 3
OH ;ﬁl PC6-01G 6 10 | 75| G188 | 10 | 142 | 16 [198 | 4 | 44 4
1— : . 2o PC6-02G 85 | G1/4 | 14 | 142 | 133 [176 | 4 | 64 4
; : il PC6-03G 96 | G3/8 | 17 | 142 | 149 | 197 | 4 24 4
< Ll PC8-01G 75| GU8 | 14 | 185 | 242 | 28 5 14 5
PC8-02G 8 | 136 |85 | Gl4 | 14 |185 | 188 | 231 | 6 | 12.8 6
: R PC8-03G 96 | G318 | 17 | 185 | 194 |242 | 6 | 226 6
PC10-02G 95 | G1/4 | 17 | 206 | 246 | 293 | 7 | 204 7
PC10-03G | 10 | 167 | 96 | G3/8 | 17 | 206 | 21 [258 | 8 21 8
PC10-04G 1 | Gl/2 | 21 [206 | 194 |249 | 8 | 364 8
< PC12-02G 95 | G1/4 | 21 | 232 | 209 |347 | - |356 7
R PC12-03G | 12 | 196 | 11 | G3/8 | 21 |232 | 257 [312 | - | 378 9
Metric thread type PC12-04G 1 | G2 | 21 [232 | 257 |312 | - 49 9
AHIFEI

NI: &BIREIE

NI:Release Ring (Metallic Body)




FE #E3EFE (A) Tube Fitting (Ivory)

5 |_ros] cao f ono |
Straight RS N2l N2l eetis(unit): mim

R £ 8 nEiE
PC4-M5-W 35 | M5X08| 8 159 | 176 | 3 | 32 | 3
PCAMEW | o |39 |mexto| 10 | 125 [181] 3 |46 [ 3
oP PC4-01-W 7 | pTs | 10 128 [163 | 3 | 56 | 3
@D, PC4-02-W 96 | PT1/4 | 14 129 | 177 | 3 [ 128 3
S & PC6-M5-W 35 | M5x08| 8 176 | 194 | 2 | 46 | 2
. ' PC6-M6-W 3.7 |mex10| 10 143 | 185 | 3 | 48 | 3
H % m PC6-01-W 6 10 | 7 [pris| 10 | 142 [158 [193 | 4 | 56 | 4
_\f_ . —_lo PC6-02-W 9.6 | PT1/4 | 14 139 | 187 | 4 [ 116 ]| 4
; : @ . PC6-03-W 96 | PT3/8 | 17 149 [ 197 | 4 [ 228 4
< D \ — PC8-01-W 7 | pTis | 14 24 | 275 5 | 12 5
PC8-02-W 6 |15 26 |PTV4] 14 | o 203 ]oa2] 6 [132] 6
B PC8-03-W 96 | PT3/8 | 17 194 | 242 | 6 | 222 | 6
PC8-04-W 12 | PT12 | 21 192 | 252 | 6 | 404 | 6
PC10-01-W 7 | prs | 17 [206 [ 261 [206 | 5 [ 194 | 5
pctoo2w | | 96 [PT14 | 17 [203 [243 291 ] 7 | 20 7
<L PC10-03-W 96 | PT3/8 | 17 | 157 | 21 | 258 | 8 | 212 | 8
R PC10-04-W 12 [PT12 | 21 | 206 | 199 [ 259 | 8 | 37 8
Metric thrsad type PC12-02-W 96 | PT1/4 | 21 30 | 348 | - 35 7
NGRS PC12:03W | 12 | 196 | 96 | PT3/8 | 21 | 232 |274 | 322 | - | 324 | 9
PC12-04-W 12 [ PT12 | 21 262 | 322 | - |402 | 9

PC g

NI Straight
& 50 BEIME B 8 REALE

PC4-M5-NI 35 |M5x0.8| 8 159 | 176 | 3 | 41 | 3
PC4-M6-NI 39 |Mex1.0| 10 125 181 | 3 |55 | 3

op ) g 8 12.4
- PC4-01-NI 7 | PTus | 10 128 | 163 | 3 7 3
PC4-02-NI 96 | PT1/4 | 14 120 [ 177 | 3 [137 | 3
I~ PC6-M5-NI 35 [M5x0.8| 8 176 | 194 | 2 |54 | 2
- PC6-M6-NI 37 [Mex1.0| 10 143 | 185 | 3 |56 | 3
>H _%‘ PC6-01-NI | 6 10 | 7 |PT1/8 | 10 |142 [ 158 [193 | 4 |64 | 4
. T 4o PC6-02-NI 96 | PT1/4 | 14 139 (187 | 4 [124 | 4

. LRCEZ02AN T

: . @ PC6-03-NI 96 | PT3/8 | 17 149 [ 197 | 4 [236 | 4
< (I PC8-01-NI 7 | PTus | 14 24 |275| 5 [143]| 5
PC8-02-NI 96 | PT1/4 | 14 203 | 242 | 6 [155 | 6

=1 8 | 136 185
R PC8-03-NI 96 | PT3/8 | 17 194 | 242 | 6 [245]| 6
PC8-04-NI 12 | PTi2 | 21 192 (252 | 6 |427 | 6
PC10-01-NI 7 |pTus | 17 | 206 [ 261 [206 | 5 [232] 5
PC10-02-NI| | |96 |PTY4a| 17 |203 243 [201 | 7 [238] 7
<; PC10-03-NI " o6 |Pras| 17 [157 | 21 [258| 8 [ 25 | 8
R PC10-04-NI 12 [PT12 | 21 [ 206 [ 199 [ 259 | 8 [408 | 8
Metric thread type PC12-02-NI 96 | PT1/4 | 21 30 (348 | - |42 | 7
AR PC12-03-NI| 12 | 196 |96 | PT3a/8 | 21 | 232 |274 322 | - [398 | o
PC12-04-NI 12 [ PTi2 | 21 262 | 322 | - |476 ]| 9
PC16-03-NI 96 | PT3/8 | 24 329 | 359 | - |546| 11

———— 16 | 23 236
PC16-04-NI 12 | PT12 | 24 312 [372 | - |e02]| 13

(17553 Note JN[R Tz 3 NI:Release Ring (Metallic Body)




C =2eses
Straight RS NESN RE2EN (i (Unity mim

B R BIME 2 8 REAR
PC4-M5-W 3.5 |M5x0.8| 8 15.9 | 17.6 3 3.2 3
2P PC4-M6-W 3.9 [M6x1.0| 10 125 | 18.1 3 46 3
@D — 4 8 12.4
PC4-01G-W 75 | G1/8 | 10 131 | 16.8 3 3.2 3
> PC4-02G-W 95 | G1/4 | 14 129 | 17.6 3 | 134 3
PC6-M5-W 35 |M5x0.8| 8 17.6 | 19.4 2 4.6 2
OH }IEELI PC6-M6-W 3.7 |M6x1.0| 10 14.3 | 185 3 48 3
; 3 e PC6-01G-W 6 0 |75 | GU8 | 10 | 142 | 16 [19.8 | 4 44 4
“: ! o PC6-02G-W 85 | G1/4 | 14 133 | 176 | 4 6.4 4
« bl PC6-03G-W 96 | G3/8 | 17 149 | 197 | 4 24 4
!- \ PC8-01G-W 75 | G1/8 | 14 242 | 28 5 14 5
R PC8-02G-W 8 136 | 85 | G1/4 | 14 | 185 | 18.8 | 23.1 6 | 128 6
PC8-03G-W 96 | G3/8 | 17 19.4 | 24.2 6 | 226 6
PC10-02G-W 95 | G1/4 | 17 246 | 29.3 7 | 204 7
PC10-03G-W | 10 16.7 | 96 | G3/8 | 17 | 206 | 21 | 258 8 21 8
< PC10-04G-W 1 | G1/2 | 21 194 | 249 8 | 364 8
R PC12-02G-W 95 | G1/4 | 21 299 | 347 - 35.6 7
%?éﬂ%ﬁ;_?ﬁi%“ type PC12-03G-W| 12 196 | 11 | G3/8 | 21 |232 | 257 |312 - 37.8 9
PC12-04G-W 1 | G1/2 | 21 257 | 31.2 - 49 9

PC

G+NI Straight

=2eEe,......

B R BIME B 8 REAR

PC4-M5-NI 35 |M5x0.8| 8 159 [ 176 | 3 | 4.1 3
PC4-M6-NI 3.9 |Mex1.0 | 10 125 | 181 | 3 |55 3

1 4 8 124
oP PC4-01G-NI 75 | G1/8 | 10 13.1 | 16.8 3 |41 3
@D PC4-02G-NI 95 | G4 | 14 129 | 176 | 3 |14.3 3
) PC6-M5-NI 35 |M5x0.8| 8 176 | 194 | 2 |54 2
PC6-M6-NI 3.7 |Mex1.0| 10 143 | 185 | 3 |56 3
OH ’-EE"H PC6-01G-NI | 6 10 |75 | GUs | 10 |[142 | 16 |198 | 4 |5.2 4
_\ﬂ— T (o PC6-02G-NI 85 | cua | 14 133 [176 | 4 [72 | 4
— , @ PC6-03G-NI 96 | Gas | 17 149 | 197 | 4 |248 4
< N PC8-01G-NI 75 | G8 | 14 242 | 28 | 5 (163 | 5
PC8-02G-NI | 8 | 136 |85 | G1/4 | 14 | 185 | 188 |231 | 6 [15.2 6
\\B PC8-03G-NI 96 | G388 | 17 194 | 242 | 6 [24.9 6
PC10-02G-NI 95 | G4 | 17 246 (293 | 7 [24.2 7
PC10-03G-NI| 10 | 167 | 96 | Ga/8 | 17 | 206 | 21 |258 | 8 |[24.8 8
PC10-04G-NI 11 | 612 | 21 194 | 249 | 8 402 8
<}__ PC12-02G-NI 95 | G1/4 | 21 299 (347 | - |43 7
R PC12-03G-NI| 12 | 196 | 11 | G | 21 | 232 | 257 312 | - |45.2 9
Metric thread type PC12-04G-NI 11 | 612 | 21 257 [312 | - |[56.4 9

AHIFEI

GCEIDD G “REF(PFESF) G:BSPP Thread
NI: £EREHR NI:Release Ring (Metallic Body)






